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Darwin's salary is Rs X. He gets 20%
increment and his salary becomes Rs Y. Z
s 125% of X and 400 greater than Y. Find
the new salary of Darwin?

(A) Rs 10000 (8) K900
(€) 9c00 (0) 12000
€] None of t

2% is 200% of Y. Chaose, which one of the
following is not true?
A) 527
{8) Lehtofxand ¥isx
€] tesst common fctor of Xand Y isY
1511 5 dved by X Pace valu of  n the

10
) None of these

auotientis

3. Xis ¥ multiple of Z. Choase, which one
of the following i not true?
() 1=z, 2%
) 25 (f2f
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(€ 1#y=x,
(0) (V+1)" multple of 25 dusible by X
(€) None of these.

4. Area of a circular park s 15400k A car
takes 240 minute to go from A to B. Find
the speed of the cor?

TN

iy

Kot/

(A) 35K/
(€] 30km/n
(£) None of these.

(8) A0km/n
0) 20km/h

5. Xis 2 positive decimal fraction and X>1. X
is changed into fraction, the fraction will
be?

(A) Proper fraction
(€) ke fraction
(€} None of these

(8) improper fraction
(D) Uniike fracuon

£




[image: image2.jpg]6. Xis factor of Y and Z are multiples of Y.
Which one of the following options
incorrect?

(A) LCMof X, Y andZisZ
(8] HCF of X, Yand Zis X
(©) %2

D) s aso mulipie of X
) None of thes

7. ABCD is a rectangular garden. Anna tokes

45 minutes to go from A to & and 30
minutes from B to C. If her speed is 9 km/
hour, find the area of the garden?

A 6

—t

o T
(A 30375kmt(8) 30km?
(€) 2275km? (D) 29.5km?

6) fonc of thesc
8. Xis what percent of Y, If XY =21

() 100% 8) 50%

(€) 25% 0) 200%

(E) None of these.

. When A is divided by B, C is remainder

and D is quotient. Choose the correct

option?

() 11C=0, A s maltipe of B

(B) BxD+C=A

€] 8-Cistheleast number that should be added
10 10 make it a multipl of B

(0) A<8,051

16 Bore of these

0. s 23 dgits greatest number, What loast
number should be added to X such that it
will become the multple of fifth muliple
of 157
(%20
(c) 2
(6) o of these.

®2
)2

11.A man bought 30 eggs, 14 out of them
were rotten. He sells remaining eggs at Rs.
.50 each, and suffers a% loss. If only 6
eagsthad rotten, what would have his

profit percent?
() 2%
(€) at%
(€) None of these

(8) 25%
(0) s0%

12. By what percent the disgonal of 3 square
should be increased 5o that area of the
square will become 4 times of ts original
area?

() 25%
(c) 75%
(€] None of these.

(8) 50%
(0) 100

13. By what percent area of a circle should
be decreased so that diameter of the
circle will become half?

(A 25% (8) s0%
(c) 75% (0) 100%
(E) None of these.

14. A bag has 20 Russian flag, & American flag,
24 British flog and some Indian flag. One.
flag s suddenly to be taken out of the box.
1t probability of American lag to be taken
outis 2/21, find the number of indian flag

in the bag?
%16 (8) 20
(20 (0132

(€] None of these.

5. A shopkeeper bought 580 kg of fruits. 28
kg of fruits were rotten. He sold first 250
kg of fruits at the rate of Rs 80/kg and
then reduced the price by 37.5%, He made
overall 17% profit. Find the cost price of
fruits?

(A) Rs51.72

(®) Rs50

(©) Rs55.20

(0} s56.30

8) Nane of these.

16.A sum becomes 16 times in 1 year when
interest is compounded quarterly. If the
rate of interest is r % for 1 year, find the
value of r?

(A) 100%
(€) 300%
(€) None of these.

(8) 200%
D) 00%
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[image: image3.jpg]17. A number 184 is divided into two parts
such that one third of one part may
exceed one seventh of the other part by
8. The two parts of the number are?

(A) 46and 138
(€) s4and 120
(€] None of these

18, One face of a cube of 85.184cm” is folded
into a cylindrical shape. Find the volume

(®) 32and 152
(0) 723nd 122

of the shape?
(8) 67766 (8) 7667em*
(©) 6e76em? (D} 7776em’

(€] None of these

19, Twice a number when increased by 7 gives
45. Find the number.
) 20 ® 2
(© % (0) 28
(6) Nane of these:

20.ABCD is a rectangle of length L and
breadth B. O is the mid point of side CO.
Rectangle has been divided into three

ingles. Find, arA AOD +arA BOC - arA

0B

s

© 28

() None of these

(®) %18
©)0

(8] Closest decima fraction of a whole number.
can ot be found

(€] Cosest natural number of  proper fraction
61

(0) 1f 25 denominator of s fraction, two closest
whole number of the faction ae at unequsl
distance from the fraction on the number
fine

(€] Nome of these

24.A pipe can fill  tank in 16 hours. Due to
teakage it s filled by the pipe in 24 hours.
1f tank s full, how much time will it take
to empty by the leak?

(4) 36 hours (8) 42 hours
(€) a5 hours (0] 48 hours
(€) Nore of these

25.1f ABCE is 3 square and CDE is equilateral
triangle then angle ADB will be:

A
) 15° ® 2
0 25° ©) %

(€] None of these

21 How many times decimal fraction 5.2356
s greater than 00523567
(A) 20 times 18) 100 tmes.
(€) 1000times (D) 200times
€] None of these.

22.A circle of center O has a triangle AOB

I . v ans 3 e g
of the circle and <AOB=90°, Find the
Sierene bensaen sfn f s 1
g
(A) e 18) (re1)r?

e
€2 o (=2

(£) None of these

23. Which one of the following is not true?
A] Closest whole number o the fraction 29 A5
¥

REFAONTO/BHN

26.In the given figure BC=39 cm, find XY if
EF|[BC & XY |EF

(31 9.75¢m
(©) 865em
(€) None of these.

(8)8.80m
(D) 9:85cm

T WL thenthevaiueor [ 1
B e
s
()8 ®) 3
© 4 o)1

(€) None of these
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28,205 pages of a book are yellow coloured.

W yetow it g comsrie  of

the ook, find the total number of pages
the book has?
(4] 250

(©) 20

(6] None of these.

29. A cyclist goes all around o circular playing.
Brouns. He finds, wheel of the cycle took
500 revlutions to cover the distance. if
radius of the wiheel i 0.7m, find the radius.
of the playing ground?

(®) 260
(0) 287

14) 245m (8) 250m
ic) 260m {0} 300m
(£) None of these

30. Cody's school is 8 km from his house. He

leaves his house at 10:00am and he has to
reach his school at 10:30, First 10 minutes
he walks with the speed 12km/hour but
he finds he would got late with this speed
therefore, he increases his speed and
reaches school in time . By how much
does Cody increase his spead?

(A) @ ko (8) 6 kon/hour

(€) 8 knyhour (D) 10 km/hour

€] None of these

31 Amelia has collected 72 books of three
subject Math, Scionce and English. The
ratio of the books are 5:3:4 respectively.
Amelia draws one book suddenly from her
collection. Find the probability of book
tobe 2 math?

n ®+
(O ® g
R, 1 1
THeng, (B

e o gese

32. Where should: al be placed in the

numeral 56978 50 thatt becomes 10000%
of 5.6978? —

() Rghttothe s (8) el bthes

(€] Right tothe S (o) Leftto the 8

(E) None of these

33. What lcast number should be added to
215" multiple of 5 50 that it becomes.
multiple of 117

@2
o4
{ these

34. Cody spent 60% of his monthly income
and remaining deposited in a bank. Bank
gives 2% interest/month on the deposit
money. If Cody ha deposited 60% of his
income, he wouid have got interest Rs 500
more in 3 month. Find the monthly

income of Cody?
{A) Rs125000 (®) 15000
{€) hs200000 (0) s 250000

(£) None of these

35 16X is cube of ¥ and 2 is cube of ¥ then
which one of the following is not true?
(A) LCMOIX, Yand ZinZ
(8) 2159 umes ofx
€)1 X 6 negative ineger , then Y and Z are
al50 nogatie integers

0) f ary of them s positve integer then other
£Wo must be positive integers

8) None of these

36. The height of the students is given as 142,
152,156, 155, 162, 175, 178, 192, 184, 185.
Find the mean hoight,

(A) 1689 (8] 173
€] 152 0) 156
(6) None of these

37. Which one of the following is not truc?

(A) I radis ot 3 circe i doubled. s perimeter
3150 becomes doutie.

(8] If radius of a circle is dousled its area
becomes four tmes

(€)1 sides of a square s doubled its area
becomes 4 times

(0) 1 perimeter of & crce is doubled it area
also bocomes double

{£) None of these.

s8simplity
g ®) o
(€] 5 (0) xmer

(€] None of these

39. Find the square roof of 519841
(A 621 (8) 7.5
(€ 721 (0) 409
{€) None of these.

0. Find the value of 3 such that value of

¥ becomes 1:
(a1 ® 1
©0 ]2

[€) None of these.
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